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6. Questions of  English Medium will be considered for evaluation

in case it differs in Hindi Medium.

7. Answers must be shown by completely blackening the

corresponding rectangles on Side-II of the Answer-Sheet

against the relevant question number by black/blue ball

pen only. Answers which are not shown by black/blue ball

pen will not be awarded any mark.

8. The Answer-Sheet must be handed over to the Invigilator

before you leave the Examination Hall.

9. Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as any be

deemed fit.

10. The manner in which the different questions are to be

answered has been explained in the OMR form which you

should read carefully before answering the questions.

11. Answer the questions as quickly and as carefully as you

can. Some questions may be difficult and others easy. Do

not spend too much time on any question.

12. No Rough Work is to be done on the Answer-Sheet. Space

for rough work has been provided at the back of the booklet.

1. This Booklet contains 100 questions in all comprising
the following four parts:
Part – A :  General Intelligence & Reas. [25  Questions]
Part – B :  General Awareness                 [25 Questions]
Part – C :  Quantitative Aptitude           [25 Questions]
Part – D :  English [25 Questions]

2. All questions are compulsory and carry two marks each.
3. Before you start to answer the questions you must check

up this Booklet and ensure that it contains all the pages
(1-8) and see that no page is missing or repeated. If you
find any defect in this Booklet, you must get it replaced
immediately.

4. For every wrong answer 0.5 marks will be deducted
from the correct answer.

5. You will be supplied the Answer-Sheet separately by
the Invigilator. You must complete the details of Ticket
Number, Roll Number and Test Form Number on Side-
I of the Answer-Sheet carefully before you actually start
answering the questions. You must also put your
signature on the Answer-Sheet at the prescribed place.
These instructions must be fully complied with, failing
 which your Answer-Sheet will not be evaluated and
you will be awarded ‘ZERO’ mark.

bl iqfLrdk dh lhy rc rd u [kksysa tc rd dgk u tk,
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1. Find the odd word from the

given alternatives./fn, x, fodYiksa
esa ls fo"ke 'kCn pqusaA
(a) Moon /paæek
(b) Titan/VkbVu
(c) Aryabhata/vk;ZHkêð
(d) Phobos/iQkscksl

2. Select the figure in which the

given figure is embedded. /og
vkÑfr pqusa ftlesa nh xbZ vkÑfr varfuZfgr
gSA

(a) (b)

(c) (d)

3. Which of the following numbers
will replace the question mark

(?) in the given series? /fuEufyf•r
esa ls dkSu lh la[;k nh xbZ J̀a•yk esa ç'u
fpÉ (\) dks çfrLFkkfir djsxh\
5, 24, 61, 122, 213, ?
(a) 340
(b) 320
(c) 350
(d) 334

4. In a certain code language,
‘SPIRIT’ is written as
‘WKMIMG’. How will ‘GLOBAL’
be written in that language?/

,d fuf'pr dksM Hkk"kk esa] 'SPIRIT' dks
'WKMIMG' fy•k tkrk gSA ml Hkk"kk esa
'GLOBAL' dks dSls fy•k tk,xk\
(a) GTYOOX (b) GOTYXO
(c) KOSYEO (d) KSOEYO

5. If a mirror is placed on the line
AB, then out of the option
figures which figure will be the
right image of the question

figure?/;fn js•k AB ij ,d niZ.k
j•k tk,] rks fodYi vkÑfr;ksa esa ls dkSu
lh vkÑfr ç'u vkÑfr dh lgh Nfo
gksxh\

(a) (b)

(c) (d)

6. Four different positions of a
cube are shown in the figure.
Which of the following colours
is on the face opposite to the
face that has black written on

it?/vkÑfr es a ,d ?ku dh pkj
vyx&vyx fLFkfr;k¡ n'kkZb Z xbZ gS aA
fuEufyf•r esa ls dkSu lk jax ml iQyd
ds foijhr iQyd ij gS ftl ij black

fy•k gSaa\

Yellow BlueOrange Black

O
ran

ge

Blue

P
u
rp

le

Blue Black

Y
el

lo
w

Pink

Y
el
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w

(a) Purple
(b) Pink
(c) Blue
(d) Orange

7. Choose the mirror image of the

following./fuEufyf•r dh niZ.k Nfo
pqusaA

(a)

(b)

(c)

(d)

8. A piece of paper is folded and
punched as shown below in the
question figures. From the
given answer figures, indicate
how it will appear when

opened?/dkxt ds ,d VqdM+s dks eksM+k
tkrk gS vkSj ç'u vkÑfr;ksa esa uhps fn•k,
vuqlkj fNfær fd;k tkrk gSA nh xbZ mÙkj
vkÑfr;ksa ls crk,¡ fd •ksyus ij ;g dSlh
fn•kbZ nsxh\

(a) (b)

(c) (d)

9. In the following question
meanings of symbols are given.
Read them carefully and

answer the question./fuEufyf•r
ç'u esa çrhdksa ds vFkZ fn, x, gSaA mUgsa
è;ku ls i<+sa vkSj ç'u dk mÙkj nsaA
P $ Q means P is mother of Q,
P % Q means P is sister of Q,
P + Q means P is brother of Q,
P @ Q means P is father of Q.
What is the relation between ‘J’
and ‘A’ in the expression ‘A @ F
$ M % J + T’?

P $ Q dk vFkZ gS P, Q dh ek¡ gS]
P % Q dk vFkZ gS P, Q dh cgu gS]
P + Q dk vFkZ gS P, Q dk HkkbZ gS]
P @ Q vFkZ gS P, Q dk firk gSA
O;atd 'A @ F $ M % J + T' esa  'J'

vkSj ^A* ds chp D;k laca/ gS\

22
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(a) J is the mother-in-law of A

/J, A dh lkl gS
(b) A is the grandfather of J/A,

J dk ukuk gS
(c) J is the sister-in-law of A/

J, A dh HkkHkh gS
(d) A is the husband of J/A, J

dk ifr gS
10.Select the figure that will

replace the question mark (?)
in the following figure series./

fuEufyf•r vkÑfr J̀a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir djus okyh vkÑfr
dk p;u djsaA

(a) (b)

(c) (d)

11.Select the odd letters from the

given alternatives./fn, x, fodYiksa
esa ls fo"ke v{kjksa dk p;u djsaA
(a) CEH (b) KMP
(c) SUV (d) IKN

12.Select the option that is related
to the third word in the same
way as the second word is

related to the first word./ml
fodYi dk p;u djsa tks rhljs 'kCn ls
mlh rjg lacaf/r gS ftl rjg nwljk 'kCn
igys 'kCn ls lacaf/r gSA
(The words must be considered
as meaningful English words
and must not be related to each
other based on the number of
letters/number of consonants/

vowels in the word)/('kCnks a dks
lkFkZd vaxzsth 'kCnksa ds :i esa ekuk tkuk
pkfg, vkSj 'kCn esa v{kjksa@O;atuksa@Lojksa dh
la[;k ds vk/kj ij ,d nwljs ls lacaf/r
ugha gksuk pkfg,)
Rat : Rodent :: Crocodile : ?/

pwgk % Ñard %% exjePN % \
(a) Mammal/Lruik;h
(b) Herbivorous/'kkdkgkjh
(c) Reptile/ljhl`i
(d) Water/ikuh

13.Select the option that is related
to the fifth letter-cluster in the
same way as the second letter-
cluster is related to the first
letter-cluster and the fourth
letter-cluster is related to the

third letter-cluster./ml fodYi dk
p;u djsa tks ikaposa v{kj&lewg ls mlh
rjg lacaf/r gS tSls nwljk v{kj&lewg igys
v{kj&lewg ls lacaf/r gS vkSj pkSFkk
v{kj&lewg rhljs v{kj&lewg ls lacaf/r
gSA
AZW: GFC :: LSM: RYS :: DMT:?
(a) SJK (b) MDP
(c) JSZ (d) JSB

14.Find out the correct alternative
that when filled in the blanks
in the same sequence will make
the series logically complete./

lgh fodYi Kkr dhft, tks fjDr LFkkuksa
dks leku Øe esa Hkjus ij J̀a•yk dks
rkfdZd :i ls iw.kZ cuk nsxkA
W_KY_ENC YG_G ZIT_ _KWO
(a) BXQGA
(b) CXQKA
(c) AYQGB
(d) DXRKA

15. If ‘+’ means ‘–’, ‘–’ means ‘÷’, ‘÷’
means ‘×’, and ‘×’ means ‘+’.
Which of the following will be
the value of the expression?/

;fn ^$* dk vFkZ '–' '–' dk vFkZ '÷', '÷'

dk vFkZ '×' vkSj '×' dk vFkZ ^$* gSA
fuEufyf•r esa ls dkSu lk O;atd dk eku
gksxk\
117 – 13 ÷ 6 + 24 × 26
(a) 36 (b) 56
(c) 46 (d) 66

16. In a certain code language,
‘AVOID’ is written as ‘85395’
and ‘MULTI’ is written as

‘56679’./,d fuf'pr dksM Hkk"kk esa]
'AVOID' dks ^85395* vkSj 'MULTI'

dks ^56679* fy•k tkrk gSA
How will ‘EVENT’ be written in

that language?/ml Hk k " k k e s a
'EVENT' dks dSls fy•k tk,xk\
(a) 45744 (b) 45747
(c) 47544 (d) 45447

17.Select the option that is related
to the third term in the same
way as the second term is
related to the first term and the
sixth term is related to the fifth

term./ml fodYi dk p;u djsa tks

rhljs in ls mlh rjg lacaf/r gS tSls
nwljk in igys in ls lacaf/r gS vkSj NBk
in ikaposa in ls lacaf/r gSA
17:374:: 14:?::13:234
(a) 269 (b) 296
(c) 266 (d) 299

18.Select the set in which the
numbers are related In the
same way as are the numbers
of the following set.
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers Into Its
constituent digits. E.g. 13-
Operations on 13 such as
adding /subtracting/
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is NOT

allowed) /ml lsV dk p;u djsa ftlesa
la[;k,¡ mlh rjg ls lacaf/r gSa tSls fd
fuEufyf•r lsV dh la[;k,¡ lacaf/r gSaA
(uksV% la[;kvksa dks mlds ?kVd vadksa esa
rksM+s fcuk] iw.kZ la[;kvksa ij lapkyu fd;k
tkuk pkfg,A mnkgj.k ds fy, 13 & 13 ij
lapkyu tSls fd 13 esa tksM+uk@?kVkuk@xq.kk
djuk vkfn fd;k tk ldrk gSA 13 dks 1
vkSj 3 esa rksM+uk vkSj fiQj 1 vkSj 3 ij
xf.krh; lapkyu djus dh vuqefr ugha gS)
(47, 108, 169)
(22, 83, 144)
(a) (11,73, 133)
(b) (51, 112, 173)
(c) (33, 121, 181)
(d) (8, 64, 130)

19.Three of the following four
number-pairs are alike in a
certain way and one is different.
Pick the number-pair that is

different from the rest./fuEufyf•r
pkj la[;k&;qXeksa esa ls rhu ,d fuf'pr
rjhds ls leku gSa vkSj ,d fHkUu gSA og
la[;k&;qXe pqusa tks ckdh ls fHkUu gSA
(a) 7:51 (b) 10:98
(c) 8:66 (d) 13:171

20.Which of the following
interchanges of signs would
make the given equation

correct?/fuEufyf•r esa ls dkSu lk
fpÉksa dk vknku&çnku fn, x, lehdj.k
dks lgh cuk,xk\
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272 ÷ 16 × 18 – 6 + 113 = 337

(a) – and ÷/– vkSj ÷
(b) + and ×/+ vkSj ×
(c) ÷ and +/÷ vkSj +
(d) × and –/× vkSj –

21.Read the given statements and
conclusions carefully.
Assuming that the information
given in the statements is true,
even if it appears to be at
variance with commonly known
facts, decide which of the given
conclusions logically follow(s)

from the statements./fn, x,
dFkuksa vkSj fu"d"kks± dks è;ku ls i<+saA ;g
ekurs gq, fd dFkuksa esa nh xbZ tkudkjh
lR; gS] Hkys gh ;g lkekU; :i ls Kkr
rF;ksa ls fHkUu çrhr gksrh gks] r; djsa fd
fn, x, fu"d"kks± esa ls dkSu lk dFkuksa dk
rkfdZd :i ls vuqlj.k djrk gSA
Statements:/dFku%
All bags are pots./lHkh cSx crZu gSaA
All keys are pots./lHkh pkfc;k¡ crZu
gSaA
No lamps are pots./dksbZ Hkh nhid
crZu ugha gSA
Conclusions:/fu"d"kZ%
(I) Some bags are keys./dqN cSx

pkfc;k¡ gSaA
(II) No keys are lamps./dksbZ Hkh

pkch nhid ugha gSA
(a) Only conclusion (II) follows/

dsoy fu"d"kZ (II) vuqlj.k djrk gS
(b) Only conclusion (I) follows/

dsoy fu"d"kZ (I) vuqlj.k djrk gS
(c) Neither conclusion (I) nor (II)

follows/u rks fu"d"kZ (I) vkSj u
gh (II) vuqlj.k djrk gS

(d) Both conclusions (I) and (II)

follow./nksuksa fu"d"kZ (I) vkSj (II)
vuqlj.k djrs gSa

22. If every alternate letter starting
from the left end of the word
ELECTROLYSIS is written in
small letters, rest all are written
in capital letters, the new word
thus formed is arranged
alphabetically, which letter will
be sixth to the left of the letter

second from the right?/;fn
ELECTROLYSIS 'kCn ds ck,a Nksj
ls 'kq: gksus okys çR;sd nwljs v{kj dks

NksVs v{kjksa esa fy•k tk,] ckdh lHkh dks
cM+s v{kjksa esa fy•k tk,] bl çdkj cuus
okys u, 'kCn dks o.kkZuqØe esa O;ofLFkr
fd;k tk,] rks dkSu lk v{kj nk,a ls nwljs
v{kj ds ck,a ls NBk gksxk\
(a) R (b) e
(c) o (d) L

23.Arrange the following words as
per order in the dictionary./

'kCndks'k esa fn, x, Øe ds vuqlkj
fuEufyf•r 'kCnksa dks O;ofLFkr djsaA
1. Tortoise 2. Torrid
3. Torso 4. Torque
5. Tortuous
(a) 3, 2, 4, 1,5
(b) 4, 3, 2, 1,5
(c) 2, 3, 4, 5, 1
(d) 4, 2, 3, 1,5

24.Select the set in which the
numbers are related in the
same way as are the numbers
of the following sets.
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding /subtracting/
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/ml lsV dk p;u djsa ftlesa
la[;k,¡ mlh rjg ls lacaf/r gSa tSls fd
fuEufyf•r lsVksa dh la[;k,¡ gSaA (uksV%
la[;kvksa dks mlds ?kVd vadksa esa rksM+s
fcuk] iw.kZ la[;kvksa ij lapkyu fd;k tkuk
pkfg,A mnkgj.k 13 & 13 ij lapkyu tSls
fd 13 esa tksM+uk@?kVkuk@xq.kk djuk vkfn
fd;k tk ldrk gSA 13 dks 1 vkSj 3 esa
rksM+uk vkSj fiQj 1 vkSj 3 ij xf.krh;
lapkyu djus dh vuqefr ugha gS)
(17, 238, 7)
(23, 414, 9)
(a) (19,360, 9)
(b) (13,273, 7)
(c) (27, 270, 5)
(d) (15, 225, 15)

25.How many squares are there in

the following figure?/fuEufyf•r
vkÑfr esa fdrus oxZ gSa\

(a) 12 (b) 16
(c) 14 (d) 13

B-GENERAL AWARENESS
26.Which of the following was the

first major and decisive victory
for the East India Company on

the soil of India?/fuEufyf•r esa ls
dkSu lh Hkkjr dh /jrh ij bZLV bafM;k
daiuh dh igyh cM+h vkSj fu.kkZ;d thr
Fkh\
(a)Battle of Sindhuli/fla/qyh dh

yM+kbZ
(b)First Anglo-Maratha War/

çFke vkaXy&ejkBk ;q¼
(c) Battle of Plassey/Iyklh dh

yM+kbZ
(d)Battle of Tiruvannamalai/

fr#oUukeykbZ dh yM+kbZ
27.The largest ecosystem of the

Earth is/i ` Foh dk lcl s cM + k
ikfjfLFkfrdh ra=k gS
(a)Biosphere/thoeaMy
(b)Hydrosphere/tyeaMy
(c) Lithosphere/LFkyeaMy
(d)Biome/ck;kse

28.Which of the following is NOT
a Fundamental Right
mentioned in the Indian

Constitution?/fuEufyf•r esa ls dkSu
lk Hkkjrh; lafoèkku esa mfYyf•r ekSfyd
vf/dkj ugha gS\]
(a)Right to vote/oksV dk vf/dkj
(b)Right to equality/lekurk dk

vf/dkj
(c) Right to freedom of religion/

/eZ dh Lora=krk dk vf/dkj
(d)Right to freedom/Lora=krk dk

vf/dkj
29.Which of the following

Fundamental Duty provisions
is similar to Article 21A?/

fuEufyf•r esa ls dkSu lk ekSfyd drZO;
çko/ku vuqPNsn 21A ds leku gS\
(a)Article 51A (i)/vuqPNsn 51, (i)
(b)Article 51A (k)/vuqPNsn 51, (k)

(c) Article 51A (h)/vuqPNsn 51, (h)

(d)Article 51A (j)/vuqPNsn 51, (j)
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30.The Vedic Aryans lived in the
area called Sapta-Sindhu,
which means area drained by
seven rivers. One of the rivers
among the seven is Jhelum.
What was its ancient name?/

oSfnd vk;Z lIr&fla/q uked {ks=k esa jgrs
Fks] ftldk vFkZ gS lkr ufn;ksa ls cgus
okyk {ks=kA lkr ufn;ksa esa ls ,d >sye gSA
bldk çkphu uke D;k Fkk\
(a)Askini/vfLduh
(b)Parushni/i#".kh
(c) Vipash/foik'k
(d)Vitasta/forLrk

31.What is the primary function of
the notochord in chordates?/

dkWMZsV~l esa uksVksdkWMZ dk çkFkfed dk;Z
D;k gS\
(a) Support/lgkjk
(b)Locomotion/xfr'khyrk
(c) Digestion/ikpu
(d)Respiration/'olu

32.______ is defined as the study
of behaviour of individual
decision-making units, such as
consumers, resource owners

and firms./______ dks O;fDrxr
fu.kZ; ysus okyh bdkb;ksa] tSls miHkksDrk]
lalk/u ekfyd vkSj iQeZ ds O;ogkj ds
vè;;u ds :i esa ifjHkkf"kr fd;k x;k gSA
(a)Microeconomics/lw{evFkZ'kkL=k
(b)Macroeconomics/l e f " V

vFkZ'kkL=k
(c) Health economics/Lo kLF;

vFkZ'kkL=k
(d)Econometrics/vFkZfefr

33.The rules made for the
Buddhist "Sangha" were
written down in a book

called_______./ckS¼ "la?k" ds fy,
cuk, x, fu;eksa dks _______ uked
iqLrd esa fy•k x;k FkkA
(a) Pitaka/fiVd
(b)Sutta Pitaka/lqÙk fiVd
(c) Vinaya Pitaka/fou; fiVd
(d)Milinda Panha/fefyan iUgk

34.Choose the INCORRECT
statement out of the following./

fuEufyf•r esa ls xyr dFku pqusaA
(a) There is an increase in

rainfall generally from east to
west in the Northern Plains./

mÙkjh eSnkuksa esa iwoZ ls if'pe dh vksj
o"kkZ esa vke rkSj ij o`f¼ gksrh gSA

(b)Most parts of the country
receive rainfall from June to
September./ns'k ds vf/dka'k Hkkxksa
esa twu ls flracj rd o"kkZ gksrh gSA

(c) The annual precipitation in
Meghalaya is over 400 cm./
es?kky; esa okf"kZd o"kkZ 400 lseh ls
vf/d gSA

(d)Some parts like the Tamil
Nadu's coast gets a large
portion of its rains during
October and November./
rfeyukMq ds rV tSls dqN Hkkxksa esa
vDVwcj vkSj uoacj ds nkSjku ,d cM+k
fgLls fd o"kkZ gksrh gSA

35.Which of the following
statements about transfer
payments are correct?/gLrkarj.k
Hkqxrku ds ckjs esa fuEufyf•r esa ls dkSu
lk dFku lgh gS\
(1)Transfer payments are made

by the government to
households./ljdkj }kjk ifjokjksa
dks gLrkarj.k Hkqxrku fd;k tkrk gSA

(2)Pension, scholarship etc. are
not a part of the transfer
payments./isa'ku] Nk=ko`fÙk vkfn
gLrkarj.k Hkqxrku dk fgLlk ugha gSaA

(3)Transfer payments are often
used as a means of
redistributing income within
a society./gLrkarj.k Hkqxrku vDlj
lekt ds Hkhrj vk; dks iqufoZrfjr
djus ds lk/u ds :i esa mi;ksx fd;k
tkrk gSA

(a) 1, 2 and 3/1] 2 vkSj 3
(b)2 and 3 only/dsoy 2 vkSj 3
(c) 1 and 2 only/dsoy 1 vkSj 2
(d)1 and 3 only/dsoy 1 vkSj 3

36.A person having stunted
growth and discoloured hair is
most probably suffering from
___________/ftl O;fDr ds cky
fodkl esa :dkoV vkSj jaxghu gks] og
laHkor%_________ ls ihfM+r gS
(a) Vitamin A Deficiency/foVkfeu

, dh deh
(b)Glucose Deficiency/Xywdkst dh

deh
(c) Lipid Deficiency/fyfiM dh deh
(d)Protein Deficiency/çksVhu dh

deh
37.Mendeleev’s Periodic Law was

modified, and was adopted as
the basis of the Modern

Periodic Table./esaMsyho ds vkorZ

fu;e dks la'kksf/r fd;k x;k] vkSj bls
vk/qfud vkorZ lkj.kh ds vk/kj ds :i
esa viuk;k x;kA
(a)Molar mass/eksyj æO;eku
(b)Atomic number/ijek.kq la[;k
(c) Atomic mass/ijek.kq æO;eku
(d)Similar properties/leku xq.k

38.How does salt contribute to the

preservation of food?/ued Hkkstu
ds laj{k.k esa dSls ;ksxnku nsrk gS\
(a)By acting as an

antioxidant./,aVhvkWDlhMsaV ds :i
esa dk;Z djdsA

(b)By inhibiting the growth of
microorganisms through

osmosis./ijklj.k ds ekè;e ls
lw{ethoksa ds fodkl dks jksddjA

(c) By reducing the pH of the

food./Hkkstu ds pH dks de djdsA
(d)By promoting the Maillard

reaction/esykMZ çfrfØ;k dks c<+kok
nsdj

39.How is the image formed by a

plane mirror?/lery niZ.k }kjk Nfo
dSls curh gS\
(a)Erect and inverted/lh/k vkSj

mYVk
(b)Laterally inverted and

virtual /ikf'oZd :i ls mYVk vkSj
vkHkklh

(c) Virtual and inverted/vkHkklh
vkSj mYVk

(d)Virtual and erect/vkHkklh vkSj
lh/k

40.Which one of the following
statements regarding magnetic

field is correct?/pqacdh; {ks=k ds laca/
esa fuEufyf•r esa ls dkSu lk dFku lgh gS\
(a) Magnetic field lines are open

curves/pqacdh; {ks=k js•k,¡ •qyh oØ gSa
(b)two magnetic field lines are

found to cross each other/nks
pqacdh; {ks=k js•k,¡ ,d nwljs dks dkVrh
gqbZ ikbZ tkrh gSa

(c) Magnetic field lines are

closed curves /pqacdh; {ks=k js•k,¡
can oØ gSa

(d)Magnetic field is a quantity
that has no direction and

magnitude/pqacdh; {ks=k ,d ,slh
jkf'k gS ftldh dksbZ fn'kk vkSj ifjek.k
ugha gksrk
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41. In which year was the Pro
Kabaddi League founded in

India?/Hkkjr esa çks dcîóh yhx dh
LFkkiuk fdl o"kZ gqbZ Fkh\
(a) 2015 (b)2014
(c) 2016 (d)2013

42.How many terabytes are in a

petabyte?/,d isVkckbV esa fdrus
VsjkckbV gksrs gSa\
(a) 1048 (b)1042
(c) 1084 (d)1024

43.AMRUT scheme was launched
under the sanitation
programme in 2015. What is

the full form of AMRUT?/LoPNrk
dk;ZØe ds rgr 2015 esa ve`r ;kstuk
'kq: dh xbZ FkhA ve`r dk iwjk uke D;k
gS\
(a)Atal Mission for

Rejuvenation and Urban

Transformation/vVy fe'ku iQkWj
fjtqosus'ku ,aM vcZu VªkaliQkWeZs'ku

(b)Amar Mission for Renewable

and Ultra Transmission/vej
fe'ku iQkWj fjU;w,cy ,aM vYVªk
Vªkalfe'ku

(c) Aqua Mission for Renewable
and Ultra Transformation/

,Dok fe'ku iQkWj fjtqosus'ku ,aM vYVªk
VªkaliQkWeZs'ku

(d)Aqua Mission for
Rejuvenation and Urban

Transmission/,Dok fe'ku iQkWj
fjtqosus'ku ,aM vcZu Vªkalfe'ku

44. In which of the following years
was the first radio show

broadcast in India?/fuEufyf•r esa
ls fdl o"kZ Hkkjr esa igyk jsfM;ks 'kks
çlkfjr fd;k x;k Fkk\
(a) 1923 (b)1936
(c) 1911 (d)1927

45. In which year Timur's invasion

of Delhi took place?/fnYyh ij rSewj
dk vkØe.k fdl o"kZ gqvk Fkk\
(a) 1398 (b)1221
(c) 1492 (d)1526

46.Which Indian city hosted the
2024 G20 Startup20 Summit
to promote global innovation

and entrepreneurship?/oSf'od
uokpkj vkSj m|ferk dks c<+kok nsus ds
fy, 2024 G20 LVkVZvi 20 f'k•j
lEesyu dh estckuh fdl Hkkjrh; 'kgj us
dh\

(a) Bengaluru/csaxyq#
(b) Hyderabad/gSnjkckn
(c) Gurugram/xq#xzke
(d) Ahmedabad/vgenkckn

47.Which Indian state became the
first to implement 100% e-

Cabinet system in 2024?/dkSu lk
Hkkjrh; jkT; 2024 esa 100» bZ&dSfcusV
ç.kkyh ykxw djus okyk igyk jkT; cu
x;k\
(a) Gujarat/xqtjkr
(b) Himachal Pradesh/fgekpy
çns'k
(c) Kerala/dsjy
(d) Uttar Pradesh/mÙkj çns'k

48.Who is the current (2025)
Chairperson of SEBI (Securities
and Exchange Board of

India)?/lsch (Hkkjrh; çfrHkwfr vkSj
fofue; cksMZ) ds orZeku (2025) vè;{k
dkSu gSa\
(a) Shaktikanta Das/'kfDrdkar nkl
(b)Nirmala Sitharaman/fueZyk

lhrkje.k
(c) Madhabi Puri Buch/ek/ch iqjh

cqp
(d)U. K. Sinha/;w ds flUgk

49.What is the name of India’s first
indigenous mRNA-based
vaccine against dengue,

approved for trials in 2024?/Msaxw
ds f•ykiQ Hkkjr dh igyh Lons'kh
mRNA&vk/kfjr oSDlhu dk uke D;k
gS] ftls 2024 esa ijh{k.k ds fy, eatwjh nh
xbZ gS\
(a) CoviDengue/dksfoMsaxw
(b) DengiVac/MsaxhoSd
(c) DSV-4/Mh,loh&4
(d) BharatDengue/HkkjrMsaxw

50. In April 2025, which Indian city
became the first to fully electrify

its public bus fleet?/vçSy 2025
esa] dkSu lk Hkkjrh; 'kgj vius lkoZtfud
cl csM+s dks iwjh rjg ls fo|qrhÑr djus
okyk igyk 'kgj cu x;k\
(a) Pune/iq.ks
(b) Chennai/psUubZ
(c) Bengaluru/csaxyq#
(d) Ahmedabad/vgenkckn

C- QUANTITATIVE APTITUDE

51. If sin (A + B) =
3

2
and sec

(A – B)  = 
2

3
, 0º < A + B <

90º and A > B, find A and

B./;fn sin (A + B) =
3

2
vkSj

sec (A – B)  = 
2

3
, 0º < A +

B < 90º vkSj A > B] rk s A rFkk
B Kkr dhft,
(a) A = 15º and B = 45º/A = 15º

rFkk B = 45º

(b) A = 60º and B = 30º/A = 60º

rFkk B = 30º

(c) A = 45º and B = 15º/A = 45º

rFkk B = 15º

(d) A = 30º and B = 60º/A = 30º

rFkk B = 60º

52.The speed of a boat down the
stream is 125% of the speed in
still water. If the boat takes 30
minutes to cover 20 km in still
water, then how much time (in
hours) will it take to cover 15

km upstream?//kjk ds vuqdwy uko
dh xfr fLFkj ty esa uko dh xfr dh
125» gSA ;fn uko dks fLFkj ty esa 20
fdeh dh nwjh r; djus esa 30 feuV yxrs
gSa] rks /kjk ds çfrdwy 15 fdeh dh nwjh
r; djus esa mls fdruk le; (?kaVksa esa)
yxsxk\

(a)
3

4
(b)

1

2

(c)
1

4
(d) 1

53.Study the given pie-chart and
answer the question that

follows./fn, x, ikbZ&pkVZ dk vè;;u
dhft, rFkk fuEufyf•r ç'u dk mÙkj
nhft,A
The pie-chart shows the
expenditure incurred in the
preparation of a book by a
publisher, under various heads.
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ikbZ&pkVZ ,d çdk'kd }kjk fofHkUu enksa
ds varxZr iqLrd rS;kj djus esa fd, x,
O;; dks n'kkZrk gSA

30%

10%

15%

20%

25%

Printing

Paper 

Royalty

Miscellaneous

Binding

Expenditure in book publishing

What is the difference between
the angle of pie-chart showing
the expenditure incurred on

binding and printing?/ckbafMax vkSj
fçafVax ij fd, x, O;; dks n'kkZus okys
ikbZ&pkVZ ds dks.k ds chp D;k varj gS\
(a) 15º (b) 20º
(c) 18º (d) 22º

54.A toffee company prepares
toffee of two different flavours
X and Y. The production of two
flavours over a period of 4 years
is experssed in the bar graph

given below./,d VkWiQh daiuh nks
vyx&vyx Ýysoj X vkSj Y dh VkWiQh
rS;kj djrh gSA 4 o"kks± dh vof/ esa nks
Ýysoj dk mRiknu uhps fn, x, ckj xzkiQ
esa O;Dr fd;k x;k gSA

Production of two different toffee flavours by a 
company over different years (in 1000 packs)

,d daiuh }kjk fofHkUu o"kks± esa nks vyx&vyx VkWiQh

Ýysoj dk mRiknu (1000 iSd esa)
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What is the difference between
the average production of
flavour X in 2017 and 2018 and
the average production of
flavour Y in 2019 and 2020./

2017 vkSj 2018 esa Ýysoj ,Dl ds vkSlr
mRiknu vkSj 2019 vkSj 2020 esa Ýysoj
okbZ ds vkSlr mRiknu ds chp D;k varj
gS\

(a) 6000 packs/iSd
(b) 6400 packs/iSd
(c) 7500 packs/iSd
(d) 7000 packs/iSd

55.The value of/dk eku Kkr djsaA

1.6 × 1.6 × 1.6 – 0.6 × 0.6 × 0.6

1.6 × 1.6 + 1.6 × 0.6 + 0.6 × 0.6

(a) 0 (b) 1
(c) –1 (d) 2

56. If tan = 
2

7
, then find the value

of 
4cos θ – 7sin θ

4cos θ + 7sin θ
./;fn tan =

2

7
 gS] rks 

4cos θ – 7sin θ

4cos θ + 7sin θ
 dk eku

Kkr dhft,A

(a)
3

2
(b)

1

2

(c)
4

5
(d)

1

3
57.The sum and product of the two

numbers are 12 and 35
respectively. Find the sum of

their reciprocals./nks la[;kvksa dk
;ksx vkSj xq.kuiQy Øe'k% 12 vkSj 35 gSaA
muds O;qRØeksa dk ;ksx Kkr dhft,A
(a) 11/12 (b) 12/35
(c) 13/45 (d) 11/17

58.A sum of money invested at a
certain rate of simple interest
per annum amounts to Rs.
14,522 in seven years and to
Rs. 18,906 in eleven years. Find

the sum invested (in Rs.). /,d
fuf'pr okf"kZd lk/kj.k C;kt nj ij fuos'k
dh xbZ /ujkf'k lkr o"kks± esa 14]522 #i;s
vkSj X;kjg o"kks± esa 18]906 #i;s gks tkrh
gSA fuos'k dh xbZ /ujkf'k (#i;s esa) Kkr
dhft,A
(a) 6850 (b) 6900
(c) 6800 (d) 6750

59.What is the height of a cuboid
formed by melting a cube with

a 30 3  cm diagonal melting

and making the cuboid? If the
length of the cuboid is equal to
the arm of the cube, and the
width of the cuboid is 15 cm.

(in cm) /30 3  lseh fod.kZ okys ?ku
dks fi?kykdj ?kukHk cukus ls cus ?kukHk

dh Å¡pkbZ D;k gS\ ;fn ?kukHk dh yackbZ
?ku dh Hkqtk ds cjkcj gS] vkSj ?kukHk dh
pkSM+kbZ 15 lseh gSA (lseh esa)
(a) 63 (b) 61
(c) 60 (d) 62

60.The cost price of a fan is Rs.
4,400. A merchant wants to
make a 24% profit by selling it.
At the time of sale, merchant
declares a discount of 12% on
the marked price. Find the

marked price./,d ia•s dk Ø; ewY;
4]400 #i;s gSA ,d O;kikjh bls cspdj
24» ykHk dekuk pkgrk gSA fcØh ds
le;] O;kikjh vafdr ewY; ij 12» dh
NwV ?kksf"kr djrk gSA vafdr ewY; Kkr
dhft,A
(a) `6,200 (b) `2,600
(c) `2,060 (d) `6,020

61.A square of area 169 sq cm is
formed from a wire of a certain
length. A rectangle is formed
from the same wire. What will
be the length of the rectangle if
the breadth of the rectangle is

60% of its length?/,d fuf'pr yackbZ
ds rkj ls 169 oxZ lseh {ks=kiQy dk ,d
oxZ cuk;k x;k gSA mlh rkj ls ,d vk;r
cuk;k x;k gSA vk;r dh yackbZ D;k gksxh
;fn vk;r dh pkSM+kbZ mldh yackbZ dh
60» gS\
(a) 15.25 cm/lseh
(b) 17.75 cm/lseh
(c) 16.25 cm/lseh
(d) 14.75 cm/lseh

62.Simplify the following

expression./fuEufyf•r O;atd dks
ljy dhft,A

3
1

5
 of 2

3

4
 ÷ 

11

3
+

1 2 3 1
2  ÷ 1  of 1  – 2

5 5 7 3

 
  

(a) 2
1

6
(b) 4

1

6

(c) 1
1

6
(d) 3

1

6
63.D and E are points on the sides

AB and AC respectively of ABC
such that DE is parallel to BC,
CD and BE intersect each other
at F. If the ratio of the areas of
DEF: CBF = 16: 81, Find AD:
DB?
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D vkSj E Øe'k% ABC dh Hkqtkvksa
AB vkSj AC ij bl çdkj fcanq gSa fd
DE] BC ds lekarj gS] CD vkSj BE

,d nwljs dks F ij çfrPNsn djrs gSaA ;fn
DEF : CBF ds {ks=kiQyksa dk vuqikr
¾ 16% 81 gS] rks AD : DB Kkr dhft,\
(a) 4:5 (b) 6:5
(c) 4:7 (d) 2:9

64.Two inlet pipes separately fill a
cistern in 20 minutes and 30
minutes respectively, but due
to leakage, both the inlet pipe
fill it in 15 minutes. If the inlet
pipes are closed then, the
leakage can empty the full
cistern in how many minutes?

/nks buysV ikbi vyx&vyx ,d Vadh
dks Øe'k% 20 feuV vkSj 30 feuV esa
Hkjrs gSa] ysfdu fjlko ds dkj.k] nksuksa
buysV ikbi bls 15 feuV esa Hkjrs gSaA ;fn
buysV ikbi can dj fn, tk,¡] rks fjlko
fdrus feuV esa iwjh Vadh dks •kyh dj
ldrk gS\
(a) 60 minutes/feuV
(b) 40 minutes/feuV
(c) 30 minutes/feuV
(d) 120 minutes/feuV

65. If Fig, if O is the centre of a
circle, PQ is a chord and the
tangent PR at P makes an angle
of 50° with PQ, then POQ is

equal to/;fn vkÑfr esa] ;fn O ,d
o`Ùk dk dsaæ gS] PQ ,d thok gS vkSj P
ij Li'kZjs•k PR, PQ ds lkFk 50° dk
dks.k cukrh gS] rks POQ cjkcj gS

(a) 100° (c) 80°
(b) 90° (d) 75°

66.Find the value of /eku Kkr djsa
P1119 – 1154P1111 + P1103 if

1
p +  = 2 2

p

 
  

(a) 2 (b) 1
(c) 0 (d) 8

67.The following table shows the
percentage population of four
towns below poverty line and
the proportion of males and

females:/fuEu rkfydk xjhch js•k ls

uhps pkj 'kgjksa dh çfr'kr tula[;k vkSj
iq#"kksa vkSj efgykvksa ds vuqikr dks n'kkZrh
gS%z
Town Percentage of 

population 
below poverty 
line 

Below 
poverty 
line (Male : 
Female) 

Above 
poverty 
line (Male 
: Female) 

A 10 1 : 3 3 : 2 

B 15 3 : 4 1 : 2 

C 20 2 : 3 5 : 3 

D 25 4 : 5 5 : 4 

 

If the total population of town
C is 8000 then what is the
number of females above the

poverty line in town C ?/;fn 'kgj
C dh dqy tula[;k 8000 gS rks 'kgj C
esa xjhch js•k ls Åij efgykvksa dh la[;k
fdruh gS\
(a) 2000 (b) 2200
(c) 2400 (d) 2600

68. If sinx + sin2x = 1, then what is
the value of cos8x + 2 cos6x +

cos4x ? /;fn sinx + sin2x = 1 gS]
rks cos8x + 2 cos6x + cos4x dk eku
D;k gS\
(a) 2 (b) 0
(c) 4 (d) 1

69.For what value of M, 7547M is

divisible by 9 ?/M ds fdl eku ds
fy,] 7547M 9 ls foHkkT; gS\
(a) 4 (b) 2
(c) 7 (d) 8

70.Two containers A and B of
volume 125ml and 100ml
consists of acid mixed with
water, the ratio of acid and
water are 16:9 and 1:1
respectively, what is the sum of
the acid in both the containers

? /125 eh-yh- vkSj 100 eh-yh- vk;ru
okys nks daVsuj A vkSj B esa ikuh ds lkFk
vEy feyk;k x;k gS] vEy vkSj ikuh dk
vuqikr Øe'k% 16%9 vkSj 1%1 gS] nksuksa
daVsuj esa vEy dk ;ksx D;k gS\
(a) 120ml/eh-yh-
(b) 170ml/eh-yh-
(c) 130ml/eh-yh-
(d) 160ml/eh-yh-

71.There are different types of old
coins in the ratio of 3:5:7 in a
box, whose values are Rs. 1, Rs.
5 and Rs. 10 respectively. If the
total value of coins kept in
boxes is Rs. 2450 If so, then
What is the total number of

coins of Rs. 10?/,d ckWDl esa 3% 5%

7 ds vuqikr esa fofHkUu çdkj ds iqjkus
flDds gSa] ftudk ewY; Øe'k% 1 #i;s] 5
#i;s vkSj 10 #i;s gSA ;fn ckWDl esa j•s
flDdksa dk dqy ewY; 2450 #i;s gS] ;fn
,slk gS] rks 10 #i;s ds flDdksa dh dqy
la[;k fdruh gS\
(a) 184 (b) 175
(c) 178 (d) 181

72.The following table represents
the population of four different
areas and the percentage of
males, females, and children

among them./fuEu rkfydk pkj
vyx&vyx {ks=kksa dh tula[;k vkSj muesa
iq#"kksa] efgykvksa vkSj cPpksa dk çfr'kr
n'kkZrh gSA

Area Population Males Females Children

P 10,000 40% 40% 20%

Q 20,000 30% 40% 30%

R 16,000 50% 30% 20%

S 18,000 45% 35% 20%

What is the total number of
children in areas P and Q

together ?/{ks=k P vkSj Q esa cPpksa dh
dqy la[;k fdruh gS\
(a) 7000 (b) 9000
(c) 6000 (d) 8000

73.XR is a tangent to the circle. O
is the centre of the circle. If
QOR = 60°, then what is the
value (in degrees) of XRP? /

XR o`Ùk dh Li'kZ js•k gSA O o`Ùk dk dsaæ
gSA ;fn QOR = 60° gS] rks XRP

dk eku (fMxzh esa) D;k gS\

(a) 120º (b) 50º
(c) 100º (d) 90º

74.55% of the population of a city
are male, 25% of the male
population and 20% of the
female population are under 21
years of age. If the population
of the city is 10,000, find the
ratio between the total
population of males and
females who are under 21.

fdlh 'kgj dh 55» tula[;k iq#"k gS]
25» iq#"k tula[;k vkSj 20» efgyk
tula[;k 21 o"kZ ls de vk;q dh gSA ;fn
'kgj dh tula[;k 10]000 gS] rks 21 o"kZ
ls de vk;q ds iq#"kksa vkSj efgykvksa dh
dqy tula[;k ds chp vuqikr Kkr dhft,A
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(a) 55 : 36 (b) 11 : 9
(c) 5 : 1 (d) 5 : 4

75.A shopkeeper offers 25%
discount on all the toys. He
offers a further discount of 5%
on the reduced price to those
customers who pay in cash.
How much does a customer
have to pay (` in) in cash for a
toy of ` 510? (Correct to two

decimal places)/,d nqdkunkj lHkh
f•ykSuksa ij 25» dh NwV nsrk gSA og udn
Hkqxrku djus okys xzkgdksa dks de dher
ij 5» dh vfrfjDr NwV nsrk gSA 510
#i;s ds f•ykSus ds fy, ,d xzkgd dks
udn esa fdruk Hkqxrku (esa) djuk gksxk\
(nks n'keyo LFkkuksa rd lgh)
(a) 360.38 (b) 250.65
(c) 363.38 (d) 146.25

D-ENGLISH COMPREHENSION
76.Select the most appropriate

meaning of the given idiom.
Man of straw
(a) A combination of two people
that is perfect in every way
(b) A child of a celebrity or a
famous person
(c) A person who is disregarded
as lacking character or morality
(d) A situation like a close
contest

77.Select the most appropriate
meaning of the given word.
Dilemma
(a) Plight
(b) Portion
(c) Worn
(d) Situation

78.Select the most appropriate
ANTONYM of the given word.
Dainty
(a) Inelegant
(b) Timid
(c) Critical
(d) Demanding

79.Select the most appropriate
option to fill in the blank.
Online shopping refers to
purchasing goods available on
the world wide web. You have
different websites which have
a huge _________ of products
that you can choose from.
(a) assignment
(b) assessment
(c) appraisal
(d) assortment

80.Select the most appropriate
idiom that can substitute the
underlined segment in the
given sentence.
Unless sales improve next
month, the company will be in
a critical position in which
failure seems imminent.
(a) up against the wall
(b) hitting the sack
(c) a mare’s nest
(d) a damp squib

81.The following sentence has
been split into four segments.
Identify the segment that
contains a spelling error.
The marathon player / had a
sofisticated taste / but was
definitely / a virtuous man.
(a) a virtuous man.
(b) had a sofisticated taste
(c) The marathon player
(d) but was definitely

82.The following sentence has
been split into four segments.
Identify the segment that
contains a grammatical error.
You have said that, / as he took
money from you many times, /
he owes you / five thousand
rupees all together.
(a) You have said that,
(b) five thousand rupees all

together
(c) as he took money from you

many times
(d) he owes you

83.Select the option that gives the
most appropriate meaning of
the underlined word.
Even amidst the all-pervasive
silence, the noise inside her
head seemed incessant.
(a) To follow an unknown

course
(b) To continue without any

interruption
(c) To impact in a strikingly

negative way
(d) To occur at irregular

intervals or occasionally
84.The following sentence has

been split into four segments.
Identify the segment that
contains a grammatical error
That accident happened [A] /a

long time ago, but [B] / I have

shivered at [C] / the thought of

it ever for [D]

(a) D (b) A

(c) C (d) B

85. Identify the most appropriate

ANTONYM of the given word.

Fathomable

(a) Inauspicious

(b) Incoherent

(c) Incite

(a) Inartistic

86.Select the INCORRECTLY spelt

word.

(a) Allegiance

(b)Subservience

(c)Reverance

(d) Adherence

87.Parts of the following sentence

have been underlined and

given as options. Select the

option that contains an error  I

stayed in my hometown with

my parents on the pandemic.

(a) on

(b) in

(c) with

(d) I

88.Fill in the blank with the most

suitable collocation.

We were at school together, but

our ____________ after we left

school.

(a) friendship developed

(b) friendship grows

(c) friends developed

(d) friends grown

89.Select the most appropriate

ANTONYM of the underlined

word in the given sentence.

I found my neighbour

frequently upbraiding his 5-

year-old son for being playful

all the time.

(a) beating (b) blaming

(c) extolling (d) Criticising

90.  In the sentence, ‘Her argument

was so convoluted’, what is a

synonym of the word

‘convoluted’?

(a) Straightforward

(b) Complex

(c) Direct
(d) Neutral
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91.Choose the option that is the
past continuous tense form of
the given sentence.
How soundly they sleep in their
old tottering cradle.
(a) How soundly they are

sleeping in their old
tottering cradle.

(b) How soundly they had slept
in their old tottering cradle.

(c) How soundly they slept in
their old tottering cradle.

(d) How soundly they were
sleeping in their old
tottering cradle.

92.Parts of a sentence are given
below in jumbled order.
Arrange the parts in the correct
order to form a meaningful
sentence.
A. Booming with private

developers
B. And it is changing the

landscape of the urban and
semi-urban habitat

C. Making the Indian elevator
industry the second highest
market in the world

D. India’s real estate business
is

(a) DABC (b) DBAC
(c) ABCD (d) BACD

93.Select the option that
expresses the given sentence in
passive voice.
They think that the Governor
will resign.
(a) It is thought that the

Governor will be resigning.
(b) It is thought that the

Governor will resign.
(c) They thought that the

Governor would be
resigning.

(d) They think that the
Governor is resigning.

94.Select the most appropriate
option to substitute the
underlined segment in the
given sentence.
We should help each other to
make a society that will be not
concerned with any particular
religious doctrines.
(a) a secular society
(b) a prejudiced society
(c) a harmonious society
(d) a humanist society

95.Sentences of a paragraph are
given below in jumbled order.
Arrange the sentences in the
correct order to form a
meaningful and coherent
paragraph.
a. Peace of mind is commonly

correlated with happiness,
contentment, tranquility,
contemplation, exercise and
relaxation.

b. Thus, we all need peace of
mind in our lives.

c. Peace of mind, thus, give us
all these attributes.

d. One of the most important
aspects of the mind is
getting peace.

(a) dacb (b) bdca
(c) bcda (d) dcba
In the following passage, some
words have been deleted. Read
the passage carefully and select
the most appropriate option to
fill in each blank.
There is a (1)__________ sense

of freedom about being alone in

a carriage that is jolting noisily

through the night. It is liberty

unrestrained in a very

(2)________ form. You can do

anything you like. You can talk

to (3)__________ as loud as you

please and no one will hear

you. You can have that

argument out with Jones and

roll him triumphantly in the

dust (4)____________ fear of a

counterstroke. You can stand

on your head and no one will

see you. You can sing or dance

a two-step or practise a golf

stroke, (5)_________ play

marbles on the floor without let

or hindrance.

96.Select the most appropriate

option to fill in blank no 1.

(a) tedious

(b) contemptuous

(c) baleful

(d) pleasant

97.Select the most appropriate

option to fill in blank no 2.

(a) agreeable

(b) detestable

(c) humour

(d) miserable

98.Select the most appropriate

option to fill in blank no 3.

(a) ourselves

(b) herself

(c) himself

(d) yourself

99.Select the most appropriate

option to fill in blank no 4

(a) in

(b) without

(c) for

(d) with

100.Select the most appropriate

option to fill in blank no 5.

(a) yet

(b) or

(c) but

(d) because

ROUGH SPACE


